NIL—=T Y7ty BEHFESR
X BIP AD2-T030-02-S4 262
Bal luff linear sensor
A Type BIP AD2-T030-02-S4
Prepared by customer 17 MAX 22
|—MIN =
15.5 115.5 19
ANARMSRIL H
2xM5x8 12 8
Hex. socket 6xM10
] head cap screw
- : 1
3 ~ 01) >4 0-ring
B I UIS B 2401 G680
- |
T \% W ————'n
= A -
7545 ’/ﬁ 0o
1 PlUS b \ 4 F? ~
. -
& s 2 = R B N
- 4—+4--—-—-—-—- e R s — —H— ol 2 3 w N
SRS
e 1Ll 35 © s
’/'/?F\\
+ C
C ) || // =
— E — T =0
2x2xRe1/2 < L M85.2
[Xe) —
~ o
[Te] [Te)
- . | . ~
M 1
- | ]
|
kw‘* — 102.5 1 122.5
° i— —
—0 ! |
| -___!__.,
] p==
— Rel
B Ret '
| 98.5 98.5 |
|
|
X
NIL—7 YZF it 33 '
BALLUFF LINEAR SENSOR SPECIFICATIONS ®33
E IS
T BIP AD2-T030-02-S4
ype
HAER
SPECIFICATIONS Output voltage 0~10V
wEE
PISTON DIA 165 mm Working range 0~30 mm
R LEgE
PISTON STROKE 23 mm R’;peat acZuracy +100um
RERARRE oo
“IrisToN THRUST PUSH] 45.3 kN Ambient temperature 25~85%C
(OIL PRESSURE 3.3 WPa) [ [ 4o o o 53513;510 | 6xM10ER{tRIL b (%FER)
Tighten bolts
[=]
ISTON THRUST PUSH| 56.4 kN |Be | ong ’ﬁ”ﬁ ]| (Equi-spaced)
(OIL PRESSURE 4.0 MPa) | [ 5o ¢\ 1. RANRMRIL & M10x80 (64
F ; Hex. socket head cap screw M10x80 : 6pcs.
|MAX.oPERATION PRESSURE 4.0 MPa 2. R=R=v 7L B33 24 CAREER SCALE | TYPE |SR1675CBIP
- Hose nipple ¢33 : 2pcs.
IMAx.SPEED 4500 min 3. AARMMKIL b M5x8 2% 3:5 ROTARY HYDRAULIC CYLINDER
IM ASS 2.5 K Hex. socket head cap screw M5x8  : 2pcs. APPROVAL | INSPECTION | DRW 3D NAWE | SR1675CBIP
-0 KE RD ANGLE OUTSIDE VIEW
2
[MomenT oF INERTIA 0.084 kg - m : : : nO
. . DATE @_ DRW I p 1/
0IL LEAKAGE .
150 e3> a0 3 qupa 4.3 Lmin Kitagawa Corporation g NO. 61 R:2g|83794/0_l 1,
8

1 [ 2 I 3 T T T T T | 6 [ 7 I




